kiR

PRiF, 2021 S BRI H
T

1-2-2021

(XREEG =FH LR, ERRBUs T A E LA EFK, NN, Fhee
ZI; ARMTECORIRZJLE, B

TREF, 2021 AERXANEFIHIFHIN Z1, SR RZHAN6GE LT £, &
TRICHF 1 2020, FRATAR I T IR I 5 Bie & AR IX A5 0T 1) — 4 A BEAZ A

VER— N2, IRBVFAEAIE 2021 XN ECE H 28 ke i EE—4
R ? XHAEANER S BRI EVRIR: 2021 F 43 147 IR, RER
PRISIF 43 X 47=2021 15?2

EE TR ARBON T TR, BRATE IR T &A1 43 X47 Pl EH 5. FEE
43 1 47 BANEI O EOEE, AR 45 BRI EAE IS 100 BATATDASZEP S
43X 47=4X (4+1) X100+3X7=2000+21=2021. &1 T2 & 17 HE, Hli 0 8.
71X79 . WEME? BAVE T HRMRE—FERK. FL b, EEERE, JUHEES N
RECSH AL ZFAE A I BCA SRS o B — 2R, mAS Rk A S e s T
T,

&% a + b = 10, FATRITF (10x + a)(10x + b)
(10x + a)(10x + b) = (10x + a) X 10x + (10x + a) X b (ZH 7 )
=10x X 10x +a x 10x + 10x x b+ a x b (FEHHHHF)
=100x2 + 100x +a x b (fH#/a+ b = 10)

=xX(x+1)x100+axb.



TR

BT EHBAR, BIIFERE 43X47= (4X10+3) X (4X10+7) . {ELHIZE AR
HF 4 kB x, IATHAER]: 43X47=4X (4+1) X100+3X7=2021 1 .

FIIE T Pudis AR AE —HRAE DN ERAR R, EESRAKFA —EME T
CXWRHEERN DT o AMERE, WlE: #5609 & PREY?

TR KAL) — 4 BLAE T BT 1 B 4 VAT 1A R I A 2 ) AR R



